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1. Expand	the	following	base	power54
	

(i) 4096 (ii) 625 (iii) 125 (iv) 3125 (v) 16

2. Expand	the	following	base	power5-2
	

(i) 1
9 (ii) 1

25 (iii) 1
49 (iv) 1

5 (v) 1
125

3. Expand	the	following	base	power(-4)2	
(i) 4 (ii) 36 (iii) -64 (iv) 16 (v) -4

4. Expand	the	following	base	power(-3)-3	

(i) ( -1
27 ) (ii) ( -1

125 ) (iii) 1
81 (iv) 1

9 (v) ( -1
3 )

5. Expand	the	following	base	power

	 	 4

( 5
3 )

	 	 	

(i) 3125
243 (ii) 625

81 (iii) 125
27 (iv) 1 (v) 2401

81

6. Expand	the	following	base	power

	 	 -4

( 3
5 )

	 	 	

(i) 625 (ii) 1 (iii) 625
81 (iv) 3125

243 (v) 125
27

7. Expand	the	following	base	power

	 	 4

( -3
2 )

	 	 	

(i) 81
16 (ii) ( -243

32 ) (iii) 625
16 (iv) 1

16 (v) ( -27
8 )

8. Expand	the	following	base	power

	 	 -3

( -1
3 )

	 	 	

(i) -1 (ii) 9 (iii) -27 (iv) 81 (v) 27



9. The	value	of +33
	 (-4)3	

(i) (-37)2	 (ii) -37 (iii) -35 (iv) -40 (v) -38

10. The	value	of +2-3
	 4-3

	

(i) 9
64 (ii) 11

64 (iii) 9
62 (iv) 7

64 (v)

	 	 2

( 9
64 )

	 	 	

11. The	value	of +

	 	 3

( 5
2 )

	 	 	

	 	 3

( 1
3 )

	 	 	

(i) 3383
216 (ii) 3385

216 (iii)

	 	 2

( 3383
216 )

	 	 	

(iv) 1127
72 (v) 3383

214

12. The	value	of +

	 	 -3

( -5
3 )

	 	 	

	 	 -2

( -4
3 )

	 	 	

(i)

	 	 2

( 693
2000 )

	 	 	

(ii) 77
222 (iii) 693

2000 (iv) 139
400 (v) 691

2000

13. The	value	of −52
	 (-5)3	

(i) 1502
	 (ii) 149 (iii) 152 (iv) 148 (v) 150

14. The	value	of −4-3
	 3-2

	

(i) ( -55
576 ) (ii) ( -19

192 ) (iii)

	 	 2

( -55
576 )

	 	 	

(iv) ( -55
574 ) (v) ( -53

576 )

15. The	value	of −

	 	 3

( 4
3 )

	 	 	

	 	 3

( 1
3 )

	 	 	

(i)

	 	 2

( 7
3 )

	 	 	

(ii) 3 (iii) 7 (iv) 5
3 (v) 7

3



16. The	value	of −

	 	 -3

( 5
2 )

	 	 	

	 	 -3

( 3
2 )

	 	 	

(i) ( -262
1125 ) (ii)

	 	 2

( -784
3375 )

	 	 	

(iii) ( -784
3375 ) (iv) ( -782

3375 ) (v) ( -784
3373 )

17. The	value	of ✕52
	 22

	

(i) 102 (ii) 99 (iii) 1002
	 (iv) 100 (v) 98

18. The	value	of ✕5-3
	 4-2

	

(i) 2001-1
	 (ii) 2000-1

	 (iii) 2000-2
	 (iv) 1998-1

	 (v) 2002-1
	

19. The	value	of ✕

	 	 2

( 2
3 )

	 	 	

	 	 3

( -2
3 )

	 	 	

(i) ( -32
241 ) (ii) ( -34

243 ) (iii)

	 	 2

( -32
243 )

	 	 	

(iv) ( -10
81 ) (v) ( -32

243 )

20. The	value	of ✕

	 	 -2

( -4
3 )

	 	 	

	 	 -3

( -1
2 )

	 	 	

(i) -9 (ii) ( -7
2 ) (iii) ( -9

2 ) (iv)

	 	 2

( -9
2 )

	 	 	

(v) ( -11
2 )

21. The	value	of ÷(-3)3	 43
	

(i)

	 	 2

( -27
64 )

	 	 	

(ii) ( -25
64 ) (iii) ( -27

64 ) (iv) ( -29
64 ) (v) ( -27

62 )

22. The	value	of ÷4-2
	 (-5)-3	

(i) ( -123
16 ) (ii)

	 	 2

( -125
16 )

	 	 	

(iii) ( -125
14 ) (iv) ( -125

16 ) (v) ( -127
16 )



23. The	value	of ÷

	 	 3

( -2
3 )

	 	 	

	 	 2

( -1
2 )

	 	 	

(i) ( -32
27 ) (ii) ( -10

9 ) (iii) ( -34
27 ) (iv)

	 	 2

( -32
27 )

	 	 	

(v) ( -32
25 )

24. The	value	of ÷

	 	 -3

( 5
2 )

	 	 	

	 	 -3

( 5
2 )

	 	 	

(i) 1 (ii) 4-1
	 (iii) (-1)-1	 (iv) 2-1

	

25. Find	thesquare	rootof4
(i) 3 (ii) -1 (iii) 4 (iv) 2 (v) 1

26. Find	thecube	rootof -125
(i) -8 (ii) -5 (iii) -2 (iv) -4 (v) -6

27. Find	the4throotof625
(i) 4 (ii) 5 (iii) 2 (iv) 7 (v) 6

28. Find	the5throotof32
(i) 0 (ii) 5 (iii) 1 (iv) 3 (v) 2

29. Find	the6throotof4096
(i) 3 (ii) 4 (iii) 5 (iv) 6 (v) 2

30. Find	thesquare	rootof 1
16

(i) 1
4 (ii) 3

4 (iii) 1
6 (iv) 1

2 (v) ( -1
4 )

31. Find	thecube	rootof( -64
27 )

(i) ( -4
5 ) (ii) -4 (iii) -2 (iv) ( -2

3 ) (v) ( -4
3 )

32. Find	the4throotof 1
16

(i) 1
4 (ii) 1 (iii) 3

2 (iv) ( -1
2 ) (v) 1

2

33. Find	the5throotof( -32
243 )

(i) -2 (ii) 0 (iii) ( -2
5 ) (iv) ( -2

3 ) (v) ( -4
3 )



34. Find	the6throotof 1
729

(i) ( -1
3 ) (ii) 1

5 (iii) 1 (iv) 1
3

35. Find	the	value	of
(3

2)
4 	 	
	 	 	

(i) 8 (ii) 6 (iii) 9 (iv) 7 (v) 10

36. Find	the	value	of

	 	 (3/2)

(25
16)	 	

	 	 	 	 	

(i) 125
64 (ii) 125

62 (iii) 125
66 (iv) 123

64 (v) 127
64

37. Find	the	value	of (-5)-3	

(i) ( -1
127 ) (ii) 1

125 (iii) ( -1
125 ) (iv) ( -3

125 ) (v) ( -1
123 )

38. Find	the	value	of

	 	 (-5/2)

(25
9 )	 	

	 	 	 	 	

(i) 243
3127 (ii) 27

347 (iii) 241
3125 (iv) 49

625 (v) 243
3125

39. + + =

	 	 -3

( 1
4 )

	 	 	

	 	 -3

( 1
6 )

	 	 	

	 	 -2

( 1
5 )

	 	 	

(i) 303 (ii) 306 (iii) 308 (iv) 304 (v) 305

40. -12=
(i) 1 (ii) undefined (iii) ∞ (iv) 0 (v) -1

41. -19=
(i) 0 (ii) undefined (iii) ∞ (iv) -1 (v) 1

42. 10=
(i) 1 (ii) ∞ (iii) undefined (iv) 0 (v) -1

43. 00=
(i) ∞ (ii) undefined (iii) 1 (iv) -1 (v) 0

44. -80=
(i) undefined (ii) -1 (iii) ∞ (iv) 0 (v) 1



45. 06=
(i) ∞ (ii) 0 (iii) undefined (iv) 1 (v) -1

46. =√ 49
121

(i) 9
11 (ii) 7

11 (iii) 5
11 (iv) 7

13 (v) 7
9

47. =
3
√1
8

(i) 1
4 (ii) 1

2 (iii) 3
2 (iv) 1 (v) ( -1

2 )

48. =√0.2500

(i) 0.7 (ii) 0.4 (iii) 0.05 (iv) 0.5 (v) 0.6

49. =
3
√1.3310

(i) 1 (ii) 1.1 (iii) 1.3 (iv) 1.2 (v) 0.11

50. Simplify 	 =

3
√64 +

3
√1728

3
√27 −

3
√216

(i) -6 (ii) -16 (iii) ( -14
3 ) (iv) ( -16

3 ) (v) ( -16
5 )

51. Simplify 	 =
√36 −√121

√25 +√81

(i) ( -3
14 ) (ii) ( -5

16 ) (iii) ( -5
12 ) (iv) ( -1

2 ) (v) ( -5
14 )

52. Simplify 	 + + +5-1
	 60 41 9-1

	

(i) 241
45 (ii) 249

47 (iii) 79
15 (iv) 239

45 (v) 229
43



 1)	(ii)  2)	(ii)  3)	(iv)  4)	(i)  5)	(ii)  6)	(iii)

 7)	(i)  8)	(iii)  9)	(ii)  10)	(i)  11)	(i)  12)	(iii)

 13)	(v)  14)	(i)  15)	(v)  16)	(iii)  17)	(iv)  18)	(ii)

 19)	(v)  20)	(iii)  21)	(iii)  22)	(iv)  23)	(i)  24)	(i)

 25)	(iv)  26)	(ii)  27)	(ii)  28)	(v)  29)	(ii)  30)	(i)

 31)	(v)  32)	(v)  33)	(iv)  34)	(iv)  35)	(i)  36)	(i)

 37)	(iii)  38)	(v)  39)	(v)  40)	(i)  41)	(iv)  42)	(i)

 43)	(ii)  44)	(v)  45)	(ii)  46)	(ii)  47)	(ii)  48)	(iv)

 49)	(ii)  50)	(iv)  51)	(v)  52)	(iv)
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